\i/ Exam Recommend!! Get the Full 1z0-1057 dumps in VCE and PDF From SurePassExam
Ll SurePass https://www.surepassexam.com/1z0-1057-exam-dumps.html (91 New Questions)

Oracle
Exam Questions 1z0-1057

Oracle Project Portfolio Management Cloud 2019 Implementation Essentials

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



y Exam Recommend!! Get the Full 1z0-1057 dumps in VCE and PDF From SurePassExam
l |Sure https://www.surepassexam.com/1z0-1057-exam-dumps.html (91 New Questions)

NEW QUESTION 1
You have defined two expenditure types, but they are not available for selection when you enter an expenditure batch. Identify the reason for this problem.
(Choose the best answer.)

A. The two expenditure types are not assigned to the reference data set that is assigned to the project unitin which the transaction is performed.

B. The two expenditure types are not assigned to the reference data set that is assigned to the project-owning organization in which the transaction is performed.
C. The two expenditure types are not assigned to the reference data set that is assigned to the project expenditure organization in which the transaction is
performed.

D. The two expenditure types are not assigned to the reference data set that is assigned to the business unit in which the transaction is performed.

Answer: A

Explanation:
Ref: Implementing-Project-Financial-Management-and-Grants-Management.pdf (19A Part # F11256-01) Chapter 3 — Define Project Organizations

NEW QUESTION 2

Your administrator creates maintenance conditions on the Maintain Project Enterprise Labor Resources page. An HCM person is included in a condition with a
process order value of 1 and, additionally, there are three other conditions, all with a process order value of 10. Identify two correct statements about the Maintain
Project Enterprise Labor Resources process as it relates to process order values. (Choose two.)

A. The process creates a resource by using the conditions with a process order value of 10 but does not create more than one resource for the same person even
if subsequent conditions apply to the person.

B. For the three conditions that have the same process order value of 10, the records are processed inascending alphabetic order based on the condition name.
C. For the three conditions that have the same process order value of 10, the records are processed in ascending numeric order based on the condition name.

D. The process creates a resource by using the condition with a process order value of 1 but does not create more than one resource for the same person even if
subsequent conditions apply to the person.

Answer: BD

NEW QUESTION 3

Your customer has implemented Oracle Project Portfolio Management Cloud recently and they have hired new employees for their Professions Services business.
These employees are set up in Oracle Human Capital Management Cloud, but the Project Administrators are unable to add them as resources in the Planning
Resource Breakdown Structure.

What are three conditions for new employees to show up in the list? (Choose three.)

A. Current date is before the effective date of the resource, and you did not enable the “Include people with future-dated effective start dates” option during the
search.

B. All new employees created as persons must have an active supervisor.

C. All new employees created as persons must be assigned to a department.

D. All new employees created as persons must have an active assignment.

E. All new employees created as persons must have an active project role.

Answer: ACD

Explanation:

Ref:

https://docs.oracle.com/en/cloud/saas/project-portfolio-management/19b/oapfm/project-foundation-configuratio

Why can't | find persons in the list of resources when | enter team members, planning resources, or person rate schedules?

You can't find persons in the list of resources when you enter team members, planning resources, or person rate schedules in the following situations:

© The administrator didn't assign a department while creating users. Persons must have an active assignment and be assigned to a department in Oracle Fusion
Human Capital Management before they can be added as team members or entered as resources on the planning resource breakdown structure or person rate
schedule.

© The resource isn't active in Oracle Fusion Human Capital Management because the current date is before the effective date of the resource. If you want to
include persons who will start in the future, select the Include people with future-dated effective start dates option when you search for the person.

O persons assigned as project managers aren't active as of the project start date.

0 The assignment of the person is terminated, and an appropriate value isn't set for the number of days to display people with terminated assignments. You can
set the profile value appropriately at the site profile level using the Specify Number of Days to Display People with Terminated Assignments task in the Setup and
Maintenance work area.

NEW QUESTION 4
Your organization performs revenue recognition based on the Labor and Non-labor Burden schedule types. Identify the setup required to enable this kind of
revenue recognition. (Choose the best answer.)

A. Create a revenue method with a revenue method classification of Amount Based.

B. Create a revenue method with a revenue method classification of Rate Based.

C. Create a revenue method classification with a revenue method of Percent Spent.

D. Create a revenue method classification with a revenue method of Percent Complete.
Answer: B

NEW QUESTION 5

Identify three correct statements about project types. (Choose three.)

A. Project type can be used as a source in subledger accounting.
B. Project type can be enabled for both billing and capitalization.
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C. Summarization options can be specified at project type.
D. Classifications can be assigned at project type.
E. Project type can be associated with multiple project units.

Answer: ABD

NEW QUESTION 6

You have a small project for a period of five months. Your budget amount for each month is spread evenly and is $1000 per month. The first month actual expense
is $800 and there is a commitment for $600. Now you generate a forecast at the beginning of the second month. Identify the monthly Estimate-To-Complete (ETC)
amount that the application would calculate for the remaining four periods, when the ETC generation method includes commitments. (Choose the best answer.)

A. 1000B.-900C.800D.600
Answer: B

Explanation:
Budget 5,000Actuals 800Commitment 600 ETC = Budget — Actuals — Commitment
ETC = 5,000-800-600 = 3,600 Budget available for next 4 months = 3,600/4 = 900/month

NEW QUESTION 7
Which setup option is common to both financial and project plan types?

A. Manage the options for creating control budgets in Oracle Fusion Budgetary Control.

B. Enable the entry of plan amounts in currencies other than the project currency.

C. Identify whether the plan type is the default selection when you create budget or forecast versions.
D. Enable the use of a workflow for managing budget or forecasting status changes.

Answer: B

Explanation:

Ref:

https://docs.oracle.com/en/cloud/saas/project-portfolio-management/19b/oapfm/project-control-configuration-m

Financial and Project Plan Setup Options

The following table describes the basic budget, forecast, or project plan setup options that determine how a plan type is used in the context of a project. Except for
third-party scheduling, you can't edit these options at the project level.

Option Location Description

Planning amounts Financial plan type

Indicates that the financial plan type supports the creation of versions with the following amounts:

o Cost amounts
o Revenue amounts
o Both cost and revenue amounts

> Either cost or revenue amounts Approved budget or primary forecast

Financial plan type

Determines whether a financial plan type is used for creating approved budget versions or primary forecast versions that are used for plan comparison or project
performance reporting.

Default financial plan type Financial plan type

Determines whether the financial plan type is the default selection when you create budget or forecast versions.

Workflows Financial plan type

Enables the use of a workflow for managing budget or forecast status changes. Third-party scheduling software

Project plan type

Indicates whether project planning is performed in Microsoft Project.

If third-party scheduling is disabled in the project plan type, you can use the associated project or project template to create a project in Microsoft Project.
However, you can't export the new project or link it to one created in Oracle Fusion Project Portfolio Management.

Multiple transaction currencies Financial and project plan type

Enables entry of plan amounts in currencies other than the project currency. Budgetary control settings

Financial plan type

Manages options for creating control budgets in Oracle Fusion Budgetary Control.

NEW QUESTION 8

You have projects and tasks defined with transaction controls, which does not allow certain types of charges to the project. Your business needs to create invoices
in AP with this project every period and hence would like to make the process easier by creating a distribution set. As you create the distribution set, you notice
that these distribution set lines are not validated against the project transaction controls and you are allowed to save it without any validation errors. Identify the
reason why the project transaction controls are not applied. (Choose the best answer.)

A. There is no expenditure type information available on the distribution set line.

B. There is no expenditure organization information available on the distribution set line.
C. There is no expenditure item date information available on the distribution set line.

D. The account code combination is not available on the distribution set line.

Answer: C

Explanation:

Ref:

https://docs.oracle.com/en/cloud/saas/project-portfolio-management/18c/oapfm/project-costing-configuration-de

How can | validate distribution sets for projects information?

Oracle Fusion Projects performs validations on Oracle Fusion Payables distribution sets for payables invoices at the time you create the actual distribution set
lines. It validates the project and task number during the invoice validation.

Distribution sets are typically used on recurring transactions, and the associated project does not have transaction controls. When you create a distribution set in
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Oracle Fusion Payables, the distribution set line is not validated against the project transaction controls in Oracle Fusion Projects because you do not enter an
expenditure item date, which is required for transaction control validation. The expenditure item date is not provided because you use the distribution sets for an
indefinite period of time.

NEW QUESTION 9
You create a project schedule with a Shifts element. Identify two more elements that can be part of a project schedule. (Choose two.)

A. Exceptions

B. Accounting Calendar
C. Workday Patterns

D. Time Off

E. Expenditure Type

Answer: AC

Explanation:
Reference https://docs.oracle.com/cloud/latest/projectcs_gs/FAPFM/FAPFM1192914.htm

NEW QUESTION 10

Your company uses an accounting calendar with periods that are identical to calendar months. A contract resource has been identified to work for six months on
an accounting close cycle project. The resource is planned to start with 10 days left in the first period and to end 20 days into the last period. For the remaining
periods, the resource must be loaded on all working days of the month. You are required to distribute the budget, forecast, and planning amounts across periods
based on the task duration.

Which predefined spread curve must be used to meet this requirement? (Choose the best answer.)

A. Daily Spread Basis
B. Back Loaded

C. Bell Curve

D. S-Curve

E. Even

Answer: A

Explanation:

Ref:

https://docs.oracle.com/en/cloud/saas/project-portfolio-management/19a/oapfm/project-control-configuration-m

Predefined Spread Curves

Name Description Dist. Factors

Even

Linear distribution of financial or project plan values across periods. 10-10-10-10-10-10-10-10-10-10

Prorated Even

Linear distribution of financial or project plan values across periods, with an exception of the first period and last period in the financial plan. Financial or project
plan values for the first period and last period are prorated based on the number of days in the period.
*10-10-10-10-10-10-10-10-10-10

Back Loaded

Back-loaded distribution of financial or project plan values across periods. Assigned amounts increase over succeeding periods.

* 0-5-10-15-20-25-30-35-40-45

Front Loaded

Front-loaded distribution of financial or project plan values across periods. Assigned amounts decrease over succeeding periods.

* 45-40-35-30-25-20-15-10-5-0

S Curve

S- shaped distribution of financial or project plan values across periods. 18-10-8-10-15-17-18-17-15-8

Bell Curve

Bell-shaped distribution of financial or project plan values across periods. Assignment of plan values is highest in the middle periods.
* 0-4-10-12-14-12-10-4-0-0

Daily Spread Analysis

Spread is based upon the number of days in each financial period throughout the duration of the task assignment. Amounts are proportionally distributed
throughout all periods for the duration of the task assignment

None

NEW QUESTION 10

You are implementing Project Portfolio Management (PPM) for a professional services firm. The firm rents multiple buildings for its operations. At the end of each
month, they review the rent expense for the month and want to allocate the rental cost to all the projects and tasks that are executed by associates in each of the
buildings. The source amounts must be proportionally allocated to the tasks based on the raw costs of the tasks from the previous month. Considering that all
these costs are in General Ledger, what three allocation setups should you complete in PPM? (Choose three.)

A. Allocate rental costs once each accounting period by using the “full” allocation method.

B. Allocate to all eligible tasks and prorate the allocation by the total actual raw cost accrued for each task during the previous accounting period.
C. Define allocation basis by using Actual Amounts with a project-to-date amount class.

D. Define allocation basis by using Actual Amounts with a period-to-date amount class.

E. Allocate rental costs once each accounting period by using the “spread evenly” allocation method.

Answer: ABD

NEW QUESTION 12

You are implementing Project Portfolio Management for a global professional services organization. In their Consulting Services line of business, it is common to
use resources from different business units based on the skills required. Therefore, cross-charge transactions happen between business units within the same
legal entity. Transfer price calculations need to be based on raw costs, with no further adjustments to transfer price.

Identify two setups that can drive this borrowed and lent agreement. (Choose two.)
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A. Transfer price basis must be Raw Cost and calculation method must be Basis Only.

B. Transfer price basis must be Burdened Cost, and calculation method must be Burden Rate Schedule.
C. A document entry such as straight time must be enabled for cross-charge transactions.

D. Transfer price basis must be Raw Cost and calculation method must be Rate Schedule.

Answer: AC

Explanation:
Ref:
https://docs.oracle.com/en/cloud/saas/project-portfolio-management/19b/oapfm/project-billing-configuration-de

NEW QUESTION 17
While creating a new project template, you notice that a default Asset Cost Allocation method is being automatically associated. Identify the source setup from
which the default value is being inherited. (Choose the best answer.)

A. project classification
B. project type
C. project unit
D. project organization

Answer: B

Explanation:

Ref:

https://docs.oracle.com/en/cloud/saas/project-portfolio-management/19b/oapjf/define-project. htmi#OAPJF2201

Asset Cost Allocation Methods

The asset cost allocation method determines how indirect or common costs incurred on a project are allocated to multiple assets.

You can specify an asset cost allocation method to enable Oracle Fusion Project Costing to automatically allocate unassigned asset lines and common costs
across multiple assets. Unassigned asset lines typically occur when more than one asset is assigned to an asset grouping level.

Projects and project templates inherit a default asset cost allocation method from the associated project type. You can override the default at the project level. If
you use capital events to allocate costs, then you can also override the asset cost allocation method at the event level

Asset Cost Allocation Methods

The following table describes the available asset cost allocation methods. Method

Basis of Cost Allocation

Actual Units

Number of units defined for each asset Current Cost

Construction-in-process (CIP) cost of each asset Estimated Cost

Estimated cost of each asset Standard Unit Cost

Combination of the standard unit cost and the number of units defined for each asset Spread Evenly

Equal allocation of cost to each asset

NEW QUESTION 18
Which application would you use to map application roles to external roles? (Choose the best answer.)

A. Oracle ldentify Manager

B. Authorization Policy Manager
C. BPM Work List

D. Security Console

Answer: B

Explanation:

Ref: https://docs.oracle.com/cd/E17904_01/doc.1111/e14431/managing.htm#APMAG3333 Fusion Middleware Administrator's Guide for Authorization Policy
Manager Managing Security Artifacts

This chapter describes the procedures an administrator follows to manage application-specific security artifacts, view the external role hierarchy, manage the
application role hierarchy, and manage the

many-to-many mapping of application roles to external roles from both the application and the external role point of view.

This chapter is divided into the following sections:

o Managing Application Security Artifacts

0o Viewing the External Role Hierarchy

0o Managing the Application Role Hierarchy

o Mapping Application Roles to an External Role

> Mapping External Roles to an Application Role
Role Mapping Policy

© ARole Mapping Policy is used to determine what external subjects (users, groups or External Roles) are assigned to the applicable Application Role. The
Application Role, when referenced in an Authorization Policy, defines the principals affected by the Authorization Policy. Role Mapping Policies may also include
conditions

Oracle Identity Manager — Not used for mapping application roles to external roles How do Users Interact with Oracle Identity Manager?

Oracle Identity Manager provides an end-user interface, called the Identity Self Service console, and a system administrator interface, called the Identity System
Administration console. Both end-users and system administrators use the web browser to log on to Oracle Identity Manager. Oracle Identity Manager (OIM)

O om provision users, roles, and defines what a user can do in Oracle Cloud
0o Duty Roles are mapped to jobs and assigned access privileges (Data Security)

NEW QUESTION 19

You have four resources in your organization: P, Q, R, and S. Resource P — Project or resource calendar is active.

Resource Q — Project resource request dates are within the project or resource calendar effective dates.

Resource R — Resource calendar is complex, it does not contain seven days, and it contains more than one pattern and shift.
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Resource S — Number of working days within the requested date range is not zero on the project or resource calendar.
Identify the resource for whom Resource Availability Capacity Score will not be calculated. (Choose the best answer.)

OO w>»
nw oo T

Answer: C

Explanation:
Ref:
https://docs.oracle.com/en/cloud/saas/project-portfolio-management/19a/oapem/evaluate-and-assign-resources.h

NEW QUESTION 20
What are three configuration items that you need to set up by using the Project Organizations functional area in Project Financial Management configurations?
(Choose three.)

A. Manage Project Unit Organizations

B. Mange Business Unit

C. Manage Project Organization Classifications
D. Mange Project Types

E. Manage Project Unit Options

Answer: ACE

Explanation:
Reference
https://docs.oracle.com/en/cloud/saas/project-portfolio-management/19b/oapfm/define-project-organizations.htm

NEW QUESTION 23
Your customer has separate organizations to maintain indirect, capital, and billing types of projects. Identify the two setups that can be used to fulfill this
requirement. (Choose two.)

A. Project Type

B. Business Unit

C. Project Organization Classification

D. Organization Tree

E. Project Accounting Business Function

Answer: CD

Explanation:
Reference https://docs.oracle.com/cloud/latest/projectcs_gs/FAPFM/FAPFM1225328.htm

NEW QUESTION 24

In a Project Draft Invoice preview, quantity (hours) and unit price (bill rate) are shown as fields on the invoice.

Quantity and unit price are then used to calculate the line total, then the total price of the invoice. After the invoice is transferred or created in Receivables, the
invoice detail has a quantity of 1, and a unit price equal to the line total. The detailed Unit Price/Quantity does not come through on the Receivables invoice.
Identify the correct statement about details in the receivables invoice. (Choose the best answer.)

A. The project sends only the invoice header and invoice line description to Receivables, not the invoice distributions.

B. The project sends the invoice header, invoice line description, and the invoice distributions to Receivables.

C. The project sends only the invoice header to Receivables, not the invoice line description and distributions.

D. The project sends the invoice line description and the invoice distributions to Receivables, but not the invoice header.

Answer: B

NEW QUESTION 28

As you go through the first-quarter close for your customer, you notice that the burden amounts calculated do not seem to be right. Based on the calculations, you
notice that the amounts calculated are not considering the burden schedule override at a task level, which was done during the second month of the quarter.
Identify the reason for this problem. (Choose the best answer.)

A. Only new expenditure items charged to the task use the new burden schedule; expenditure items processed earlier cannot be reprocessed.

B. Only new expenditure items charged to the task use the new burden schedule; expenditure items processed earlier can be manually marked for reprocessing.
C. You can enable automatic reprocessing of expenditure items processed before the burden schedule change.

D. All expenditure items charged to the task use the new burden schedule.

Answer: B
Explanation:

Reference https://docs.oracle.com/cloud/r13_updatel7b/projectcs_gs/OAPJC/OAPJC1071490.htm#OAPJC1071482

NEW QUESTION 32

Your client uses Resource Breakdown Structures (RBS) and Resource Mapping to associate amounts to resources. After making some changes to the resources
at project level, forecasts are regenerated. After reviewing the cost amounts associated with the resources, you suspect that the cost association does not match
your client's expectations. Identify two valid rules based on which cost association works. (Choose two.)
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A. If one branch contains a user-defined resource type, precedence is given to the branch that contains auser-defined resource type.

B. If a transaction maps to more than one level, Oracle PPM Cloud sums the precedence numbers for all resource type in the branch and gives precedence to the
resource element in the branch with the highest sum.

C. If there is only one level in RBS to which the transaction maps, the cost amounts are mapped to that level.

D. If the sum of precedence numbers is the same for more than one branch, precedence is given to the branch with the lowest number at the lowest level.

Answer: CD

Explanation:

Reference https://docs.oracle.com/cd/E37583_01/doc.1116/e22598/F458900AN13D82.htm

How Resource Mapping Is Calculated

You can track the cost impact of every resource that has been assigned to a project task and use the resource breakdown structure to view the breakdown of
these costs. Oracle Fusion Projects associates the costs of the resources used for tasks with branches and levels in the resource breakdown structure. The
process for determining the correct association is managed by rules of precedence.

Oracle Fusion Projects uses the following rules to associate cost amounts with resources:

© select the lowest level in the resource breakdown structure to which a transaction can map.
O itthere is only one level to which the transaction maps, the cost amounts are mapped to that level.

© it the transaction maps to more than one level, Oracle Fusion Projects sums the precedence numbers for all resource types in the branch and gives
precedence to the resource element in the branch with the lowest sum.

© |t more than one branch has the lowest precedence number at the lower level, the application uses the precedence number of the next level up.
O it the sum of precedence numbers is the same for more than one branch, precedence is given to the branch with the lowest number at the lowest level.

© it one branch contains a user-defined resource type, precedence is given to the branch that does not contain a user-defined resource type.
Note Oracle Fusion Projects gives more precedence to a lower precedence number. For example, a resource element with a precedence number of 1 is given
precedence over a resource element with a precedence number of 10.

NEW QUESTION 35
Which two statements are true about a project in “Draft” status? (Choose two.)

A. Project managers can view draft projects on the Project Manager Dashboard and use the projects for requirements planning.

B. Project managers can neither view draft projects on the Project Manager Dashboard nor use the projects for requirements planning.
C. Team members can see the tasks from draft projects on the Team Member Dashboard or in the My Work area.

D. Team members cannot see the tasks from draft projects on the Team Member Dashboard or in the My Work area.

Answer: AD

Explanation:

Reference https://docs.oracle.com/cloud/latest/projectcs_gs/OAPEM/OAPEM1122096.htm The following table lists the project statuses and what you can do with
projects in that status. Project Status

What you can do? Draft

o Project managers can view draft projects in the Project Manager Dashboard and use the projects for requirements planning.

© Team members can't see the tasks from draft projects on the Team Member Dashboard or in the My Work area.
Active

o Project managers can view active projects in the Project Manager Dashboard and use the projects for requirements planning, project execution, and reporting.

© Team members can view task assignments on active projects on the Team Member Dashboard and My Work area.
Pending Close

0o Project managers can view pending projects in the Project Manager Dashboard and use the projects for project tracking, and reporting.

© Team members can view task assignments on pending projects on the Team Member Dashboard and My Work area.
Submitted

o Project managers can view submitted projects in the Project Manager Dashboard and use the projects for project tracking, and reporting.

© Team members can view task assignments on submitted projects on the Team Member Dashboard and My Work area
Closed

0o Project managers can't view closed projects in the Project Manager Dashboard or use the projects for requirements planning, project execution, and reporting.
© Team members can't view tasks of closed projects on the Team Member Dashboard or in the My Work area.

NEW QUESTION 37
Identify the three contract attributes from Project Performance Data that are used in Project Performance dashboard regions. (Choose three.)

A. Expenditure Type
B. Projects

C. Contract Line

D. Contract Header
E. Task

Answer: BCE
Explanation:

Reference https://docs.oracle.com/cloud/farel9/projectcs_gs/FAUAR/F1537947AN10251.htm

NEW QUESTION 38

You have been asked to set up one active person, who is not a team member in the project, as a quality manager for each quality task created under projects.
However, when you try to assign the quality manager as Task Manager, you cannot find the person's name in the list of values. What is the reason for this
problem? (Choose the best answer.)

A. The “Require Task Managers to be Project Team Members” profile option is set to No.
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B. The “Require Task Managers to be Project Team Members” profile option is set to Yes.
C. The quality manager belongs to a department that is not associated with the project.
D. The quality manager is not assigned with a supervisor.

Answer: B
Explanation:

Ref:
https://docs.oracle.com/en/cloud/saas/project-portfolio-management/19a/fapfm/introducing-oracle-project-portfo

NEW QUESTION 40
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